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10. One mole of an ideal monatomic gas is taken around Qs . 12
the reversible cycle shown in Figure.1 (on the right). 1,
What is the efficiency of this “heat engine™? » | @z
o [
(A) 4/21; (B) 5/14; (C) 6/11; (D) 7/34; (E) None. _ T oy |
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5. One mole of mon gas is used as the
working subsf@hice ©f ine that operates the
reversible c; - in the figure. What is the 27;—~ 5 ©
efficien " . I
(A) 1/ 1/4 (©) 2/11 1T "« d
(D) None of the above. m 2:;,
o o V

11. A point charge Q is placed at one corner of a Gaussian surface in the form of a cube of side L.

What is the total “electric flux™-through this Gaussian surface in terms of O/ €0 ?
(A) 0; (B) 1/8; (C) 3/4; (D) 5/6; (E) None.
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19. A better resolution for the two headlights of a car in a picture can be achieved by
reducing (A) the separation of the headlights; (B) the wavelength of light; (C) the
aperture diameter of the camera lens; (D) All; (E) None.
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Rayleigh's criterion
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